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Summary

« Comparison includes:
— Results of exercises 1-7; 4 cases each

— Comparison with SPACES: Exercise 2; full straggling; 2 cases AE=0
kev, 1 keV; energy bin 50 eV

— Units: yields in counts/msr/uC; energy in keV
« Qutstanding questions:

— Uncertainty quantification: how?

— End users/stakeholders needs



ROUND 1 OF INTER-COMPARISON



Exercise 1 - full
straggling AE=0
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Exercise 1 - full
straggling AE=1

Ex 1 Full straggling AE=1
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Exercise 1 —

Gauss straggling
AE=0
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Exercise 1 —
Gauss straggling
AE=1
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Exercise 2 — Full
straggling AE=0 50 eV

Ex 2 Full Straggling AE=0
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Exercise 2 — Full
straggling AE=1 50 eV
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yield

Exercise 2 —
Gauss straggling
AE=0

Ex 2 Gauss Straggling AE=0
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Exercise 2 —
Gauss straggling
AE=1

Ex 2 Gauss Straggling AE=1
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Exercise 3 — Full
straggling AE=0

Ex 3 Full straggling AE=0

1.1

12 1.08

1.06
10

1.04

SO/ ANNE

S

yield
ratio over NDF

4 098

0.96
2

094

1980 2000 2020 2040 2060 2080 2100 2120 2140 2000 2020 2040 2060 2080 2100 2120
0

beam energy (keV) beam energy (keV)

——ERYA —-NDF —=-SIMNRA ——ERYA —--SIMNRA



Exercise 3 — Full
straggling AE=1

Ex 3 Full straggling AE=1
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Exercise 3 — Gauss
straggling AE=0

yield
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Exercise 3 — Gauss

straggling AE=1

yield

Gauss Straggling AE=1
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Exercise 4 — Full
straggling AE=0
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Exercise 4 — Full
straggling AE=1
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Exercise 4 — Gauss
straggling AE=0

yield
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Exercise 4 — Gauss
straggling AE=1

Ex 4 Gauss Straggling AE=1
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Exercise 5 - Full
straggling AE=0

Ex 5 Full AE=0
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Exercise 5 - Full
straggling AE=1

Ex 5 Full Straggling AE=1
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Exercise 5 — Gauss
straggling AE=0
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Exercise 5 — Gauss
straggling AE=1

Ex 5 Gauss Straggling AE=1

1.000004

1.000003
36.8875
1.000002
36.88745 w
O 1000001
36.8874 = .
o S
@ 36.88735 o 0.999999
= -
36.8873 TS 0.999998
| —
0.999997
36.88725
0.999996
36.8872
0.999995
36.88715 200 2010 2015 2020 2025 2030 2035 2040

1995 2000 2005 2010 2015 2020 2025 2030 2035 2040 2045

beam energy (keV
beam energy (keV) By (keV)

——ERYA ——NDF —=-SIMNRA —-—ERYA —-SIMNRA



Exercise 6 — Full
straggling AE=0
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Exercise 6 — Full
straggling AE=1
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Exercise 6 — Gauss
straggling AE=0
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Exercise 6 — Gauss
straggling AE=1
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Exercise 7 — Full
straggling AE=0
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Exercise 7 — Full
straggling AE=1
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Exercise 7 — Gauss
straggling AE=0
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Exercise 7 — Gauss

straggling AE=1
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